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(pwGyh whywbnudp L qunlytint

Yuwynp)

(huquip npuwd)
Quytimm “Uwjunpn duytmn “Uuwtunpy mwpdw uyqphg
WOdULARUTE duniwGwlwppwl duniwGwlywypowb uliqphg ;l&xsﬂlplllx&;qumm ﬁ]?iil:lhﬁ:nl]:nﬁu‘:t;g;
Snljnuwjh6 L Gdwlwnhy yudnunGhp 202,539 185,348 779,220 728,255
Snynuwght L GiwGunnhy dwfuubip (115,461) (102,031) (425,394) (376,018
Qmu mnlnuwijhG L G hy Lijuninnn 87,078 83,317 353,826 352,237
Gljwinun pwhwpwdhGkphg 0 0 783 0
Undhupnl b w) yGwpGhph mbupny bjwdnunGhip 10,691 10,629 37,619 36,377
UndhuhnG L wy) J6wpGhph mbupny dwjuubp (433) (478) (11,101) (1,717)
Cwhnyyp/fGwuny Ybpwsuwnnn hpwlwl wpdtpny hwyjwndnn
Phbwbuwlwl wlmpyGhphg gnun pwhnipAGuu
:lmﬁumpp hunfwp Gwuwnbugwd GipypoudGhphg gmun yuhnp(yGwu)
UDGL dwpiwl dwdlibnp wwhyng GpypnudGhphg gnun pwhmp/ (Guru)
UpunwpdmpuighG qnpdwppGhphg unwgdud gnun puthnyp/(fGuwu) 2,003 2,548 9,229 12,192
Upunwpdmpwjhl gnpdwpplbphg unwgywd gnun pwhnigp/( Gwu) (1 2,863) (2,803) (4,184) (1 3,4961
Uy gnpdwnfwlwl Gjwinunlkp 1,649 4,134 5,972 6,777
Qnpownbwlwb HjudmmGhp 88,125 97,347 392,144 392,370
Juwpltphg L wj) hnjuwuympmGGiphg wnwpwigwd Ynpmuwmblkp (28,482) 4,198 20,521 16,613
Cenhwbnp Jupyulwi dwhibp (65,288) (69,828) (222,271) (207,453)
Uj gnpownGwlwl swhuubp (2,614) (2,061) (13,008) (11,081)
Cwhmjpp/ (6wup) ShGsk hwplnuip (8,259) 29,656 177,386 190,449
Cwhmpwhuwplh qony Swhuu (hnfuhwnnignui) (519) (9,316) (25,865) (36,680)
dutwlwywpewbh ywhnjp (8,778) 20,340 151,521 153,769
Ujn pynud’®
Uwyp Juqdwlhpuympjul pudihduu
QyLpwhuljynn pudGhduu
Ujp o 1§ PhiwGuwlwb wpyymbp 0 0 0 0
OnjuwpdtipuihG mwppbpnpmGGtp
wpumbipypyw qupowmGmpmGGtph Jipwhwyywplhg
Judwnph hwiwp Swwngbih $hiwbuwub whmpyGtip
 YtpwgGuwt uGbp
e Tpunfwlwl hnupbph higuninpmid
0y plipwghy winhyGhph Epwghwhuwwnnuibliphg ognunlhp
U hwiwwjwphwy jwdmh qony ywhmpwhwpy
Ujp hundwwywipthwmy phiwbuwlws wpgynip hupynuthg htnn 0 0 0 0
4 Yy phbwbuwlwb wpnymbp (8,778) 20,340 151,521 153,769
| Ujn pyod’
Uwyp yuqiwllipympjul pudibiwu (8,778) 20,340 151,521 153,769
Qubpwhuljynn puwdiivwu
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(hwquip gput)
{wpybnn ‘Lwlunpy wwpyuw Yhpg
ULLULNRUD PR
1 UlpnhyGtp
1.1 | 2pwdwlwi shengGhp L pwllwhG huyh]Ghp 972,399 1,061,540
CwhnypAjGwuny Ybpwswgndng hpwlwl wpdtpny hwyjwnyny
1.2 |phGwlGuwlwb wilpnp]Gtp
1.3 | Pwlybpnud wmhinupw)juwd dhengGtp 393,796
1.4 9pudwljwl jmlwmnnd wj mbnupw)funidGlp
L5 | QwéwjunpyGtiphG wipgwd Jupybp b w)) hinfuwnynipniGGbp 6,874,830 7,027,339
1.6 [dwdwnph hwiwp Gwjuunnbudwd GipppnidGip
1.7 | Uy gnpownlmpmbGGtph gony uuwgybjhp gmuiwplbp
1.8 |dwpdwlwmipjui qony unwgybihp gnuwpltip 13,483 16,173
1.9 | Uh6;L dwpiwG duniybiunp ywhynn GipgpnudGep
110 JutpnpmdGlp wy wGdwbg YubnGunpulul Juwghnuwmng 3,680 3,680
111 [Quuwhuwy GepppmdGip hpdGwljuG ShongGhpmd L ny
Gynmpwlul wlnhyGhpnd 7,621 8,926
L 11 jdwdwnph hwiwp wwhynn ny ppwghly wlnhyGtp
6,712
112 | {piGwlwG ShengGip b ny Gjmipwlwl wlnpGbp 266,679 288,296
1.13 [RbEnwdqyud hwplwhG whmpyGp
1.14 | Unwgykjhp mnynulbp
115 |Uj whmpyGlp 416,387 19,854
LOqudbln’ wimpGhp 8,955,587 8,425,808
2 MupnuwynpnipmGitp
2.1 [PwGlbtphg unwgywd thnfuwnempniGibp L Jwplbp 422,293 0
2.2 [Fpudwywi pnifw)hg wnwgywd wiy tinfuwnnipynGibp 5,064,106 6,189,045
23 | QwdwlunpyGphg Ghpgpuwd thnfuwnnipmGhbp 504,674 377,842
24 |MwpuwynpnipniGtp << junwyjwpmpul Gjundunip 12,269 32,289
2.5  |dwpdwhwinipjwl gony JGwpybihp gnuiwplbp 17,479 20,046
2.6 |dwpluyhG jwqiwybpynipjwi ynpihg pnqupyjwd wpdbpnpbip 1,088,672
2.7 [MwhnuwnGhp
2.8 | dswpytijhp gnufwplbp
29 Ktmwdqywd hwplwjh6 wwpmwynpmpymGatp
2.10 | d8wpybjhp winynubbp
211 [ Uy wwpmuwynpnipymGGbp 26,805 28,818
Llgudblp’ ywpmwynpnip/mGGhp 7,136,298 6,648,040
3 Guiuy hwwy
3.1 Ywlinfwnmulul juwhmuy 1,000,000 1,000,000
3.2 | Mwhmuwnlbp
3.2.1 Gjuwynp wwhniuwm
3.2:2 dbpwglwhwniwl wwhnwwnlbp
33 Ununwywd jwhnyp 819,289 777,768
LClnpudblp’ uy oy 1,819,289 1,777,768
Lepuwdblp wwpmuwynpnipimG6Ep L uuwfunuy 8,955,587 8,425,808
; : g/ 4l
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(JupyuwjhG juqiwltpympjul widulnuip b qubdbm Jujypp)

Glipwhutyjwo 4

(hwquip gud)
CGpwghy mupjw ‘Luwunpn mwpgw
uljqphg Shsk hwpdtvm (ulqphg dhGsk hwpytnnt
WLIULARUT wuwphdn wivwphin
1. 2pwdwlwl ShengGhph qoun hnuplp gnpdwnGwlwl gnpdmGmpniGhg (1,521,500) 1,046,241
“dpudwlwl dpgngGbph qnun hnupbp dhlsh qapou ywl wipnfyGeph b upwpoan]npnipniG66ph hninfunipynp 189,700 208,767
Uwmnwgywd nnlnulbp 769,415 718,014
JEwpjwd wnynulbp (411,714 (361,195)
UnpnwwnGhph ypulwGqlnid
Uwwgywd jwhwpwdhGahp 783
Umnwgywd qnun Yndhuhnl gnidwplbp 26,518 34,660
Jawnuwd wyuwwnwyupd b ppul hwjwuwpigywo wjp yewpnusGbp (108,224) (99,889)
JSwpywd hwplbp (87,078) (82,823)
“bpudwlwl djigngGbph qoun hnupbp gnpownbwlul whnhGhph b ywpnwnponpym 666ph thninfumpym GGEphg (1,711,200) 837,474
Stnupunfujuwo dhongltiph Gugnid (wykjugnud) (1,898,535) 138,538
Uhpgpuwyywo Jupybph wybjugmd (GJugnid) 597,283 738,952
Cwhnip/yGwuny Ypwswihynn hpwwl wpdtipny hwyqwredng b Judwnph hwdwp dwwnsbijh wpdbpnpbph Gjwgnud (wybjugnud)
Shliwluwlwl Jupdwljuwnipjwb nghiwg unwgybihp gnudwnpGbph Gugmy (wybpugnud)
Qpwdwlwl dhonglbph gnin hnupbp wy) gnpéwnGwluwl gnpomGmpjnilhg (409,948) (40,016)
2. Zpunfwlwb dhengGhiph gnin hnuptip GhpnpnidwhG goponiGinipjniGhg 2,474) (50,094)
UhGsL dwpdw 6 dwilbnp wwhyny wpdbpnpbph Gyugmd (wybjugnid)
U wldwbg ubnGwnpulwi juwyhwnwind GeipgpmiGeph GJugmd (wybjugnui)
<hiGwlwl dhongGpmy L ny Gimpwlwl winhyGepnd yuwhuww GipgpmdGhph GJwgnid (wybjugnug)
<huiGwlw6 ShongGtph L ny Gympwlwi wlmhyGbph dtnpphpmd (2:474) (50,094)
<hiGwlwl dhongGtiph L ny Gynipwlwl wlmhyGiph omwpnid
Srpwiwljw dhonglikph gnun hnupbip wyy GipnpnuiwhG gnpomGenipymGhg
3. Spudwlwl thengGhph qnun hnuptip PhGwGuwljwb gnponiGnipjniGhg 1,454,652 (466,905)
dEwpwd ywhwpwdhibp (55.583) (57.689)
Puwlltiphg unwgywo Juplbph wybpugnid (Glwgnid) 433,075
Uwnwgywo w)) thnfuwnmpjniGGph wbjugnud (GJuqnud)
dwpluighl YuwqiwlbpympynilGtph Ynndhg pnnqunlfwo wpdtpnptph wybpugmd (GJwqnul) 1,077,160 (409,216)
Pwdltntiptiph GipnpnuiGtpp unGunpulwl hhdGwppudmd
bhliwluwlul Jupdwuwmpjul qony Yewndtihp gmiwpliph wybpugnmd (GJugnud)
“puwdwlwl JhongGtiph qnun hnuptip wj| Shwluwlwl gnponiGmpjniGhg
Upwnuwpdnijph thnfuwpdtiph thnthnfunipjwl wiqntignipjniGp gpudwlywi dhengGhph L npuig hwdwpdplGhph Jpw
(19,819) 9,998
“Epuniwlwl ShongGhph qnun hnup (69,322) 529,242
Apudwlwl JhengGtip L npuilg hwiwpdtpGbp dwiwlwlwypgwlh uygpmd 1,061,540 522,300
Apuwdwlwl $hongGlip L npuilg hwdwpdbplbp dwiwiwywypgwlh Yhpemd 972,399 1,061,540
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